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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1x7=7

1. Answer the following as directed :
TS TRl e Sepi Ol el
(@) The concept of ‘Treal cost terms of
trade’ was developed by
(i) Sidney Alexander
(ii) C. P. Kindleberger
(iii) Jacob Viner
( Choos€ the correct one )
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(2) | (3)

‘oI A e TEWI CHd (PTG | (c) What, according to Ricardo, was the
AifeRom Term FRMRe ? basis for international trade?

(1) Sidney A}_exander F‘i‘@m\glq e Mt:ﬁ@’iﬁﬂ¢ 21le|61521' %ﬁj ﬁE T

(i) C. P. Kindleberger (d) What is tariff?

(iii) Jacob Viner w% 59

( ==l A Sferean )

(e) Single factoral terms of trade (T5) =
x Export productivity index (Z ,)-

(b) Heckscher-Ohlin model assumes the ( Fill in the blank )
. %:I Eﬂ"l ﬂiiamij T =
(i) increasing returns to scale B PO T) S ¥
I TeAw BF (Z x) !
(i) diminishing returns to scale ( <1 513 o T )

(iii) constant returns to scale
(f) Define offer curve.

( Choose the correct one )
SFR q@q A |

RER- o EBMR @bl SS4Re 27
: ' (g9 f K, and L, denote capital and
(i) TIaaE eifen [ labour in country A and Ky and Lg
2 denote capital and labour in country
(i) TErEE 2fene [fE ol il ;
B and if =i ?B— . identify the capital
(iti) =R eifewe fR[fd . ,; 2
rich country.
( ol Ao Sferedr )
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2. Answer the following questions :

(4)

M K, SF Ly, A (TR L SE 0T
o1 3@ W€ K 9 Ly, B (PR JE4

Ly K
o e o @, I -2 > £ =,
LA KA

CEERE @R O TS SRS 5ad,
forre <41 |

oS fral epcara Ted @

(@)

(b)

(c)

(d)

A7/343

What is meant by factor-intensity
reversal?

e Serimd ReRegal qe 2

What is the elasticity of offer curve?

TR I Hferel 62

What do you understand by f.o.b. and
c.if. in international trade account?

wEe (s qfae 2o fo.b. W c.if.-3
wof 152

What is gains from international
trade?
Sresfes e AR e &2

( Continued )

2x4=8

ol

(S)

3. Answer any three of the following

questions : 5x3=15
wers Tl erEEa R e fofepr Seg o -

(a) Explain the limitations of Ricardian
theory of international trade.

fRPoR wEEfes e e SMRaoiER
A= <4 |

(b) Explain Leontief paradox.
formfowa SR = 541 |

(c) Show the relationship between the

elasticity of offer curve (g and
optimum tariff (T,).

IFR G Fomeiee (@ W v wE
(T,,) T e F=ob (e |

(d) Elaborate the concept of ‘comparative

cost advantage’ with a suitable
numerical example.

9ol TR MAfST Trreem RS QI
T R’ GRETCo! Rese 41 |
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(6)

(e) Discuss the role of international trade
as an engine of economic growth.

EEiies qiaees Sdtfes [erE @bl I3
I R = | A F4

4. Answer any three of the following
questions : 10x3=30

TETe Wl 2aa i e feorm Sed e

(a) Discuss various concepts of terms of
trade.

q1fdey 569 S 4RETCAr Sear= A |

(b) Analyze the effects of import quotas
under partial equilibrium analysis.
e oo [ReEas SEmtEE s
TR 2o F=oicd T 0 |

(c) Explain the modern theory of
international trade.

SEsfes e T ©GCo! 00 1 |

(d) Explain clearly the classification of
tariffs on the basis of criterion and
purpose for imposition.

J@EPR G we Soeid fofes W=l
CiNRSIEE =7 ged T 1 |
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| (7))

(e) Distinguish between tariffs and
quotas. Which of the two is superior
and why?
ws U YR R qem o B
wE 9 AR FdRR Soge (@ T
RIER T

() Argue the case for free trade in the
context of present global scenario.

Arefes e e -efie g FfTEd
e e fra |

* Kk K
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